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020178 SLUXO0IE 585  2,000,0208 2,091 0 2,091
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SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
00178 NZ20 I0Ts=g =24
1,080,0008! 1,080 0 1,080
020178 W4+DBH AESHUS 12,000,000 2,000 0 2,000
020178 RIISLTM X (01X, Haza)
47,0002 147 20 127
020174 GAPIZ 50t &S AHI X2 (01X,
o) 23,0002 233 220 13
02 A SHEE3HEI 149,383 130,577 18,806
020178 SENEEL0S ATAWEE e
Al 42,9002 43 0 43
020178 SEHNSEESUIS A2 A Iy
&ou OIX B 15302 2 0 2
020178 A& 20| S0H3 883, 0002 883 0 883
020174 DEHIJHY HHAIL X
7.788,000% 7.788 0 7.788
020178 SHUUK0IS 583 940,480 941 0 941
020178 A&20| ICTS=8 24 486,008 486 0 486
020178 H4+DNBH ALHUS 5,400,000 5,400 0 5,400
020178 ®IIL¥I| X & 519,000% 519 0 519
020178 WA(DHS)MbH SI1H XS
50,0002 500 0 500
020178 LS NEZSZ AlE 840,008 840 0 840
020178 DB NMSNE ST Y4 Al
= 40,0002 40 0 40
020178 D&l FIIKMEH X 337,008 337 0 337
020178 UAS DAYMAL BHE X
200, 0002 200 0 200
020178 Sa2 MHSE Nd 404,600 405 0 405
02017 ESSMNES ASHHISH(IYTA)
4,595,000% 4,595 5,685 A1,090
020178 RIISLM X (01X, Fazol)
59,4002 60 8 52
020168 RIISLHEESIt FBRSK(0IX)
657, 0002 657 0 657
020161 MEHS X E&(0IX) 99,0002 %9 0 99
020178 MEHSLESX E&(0IK)  703,6502 704 0 704




